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27 Here are the equations of four straight lines.

 Line A y = 2x + 4 
Line B 2y = x + 4 
Line C 2x + 2y = 4 
Line D 2x – y = 4

 Two of these lines are parallel.
 Write down the two parallel lines. 

Line .. . . . . . . . . . . . . . . . . . . . . . . . . . . and line.. . . . . . . . . . . . . . . . . . . . . . . . . . .

(Total for Question 27 is 1 mark)

28 The densities of two different liquids A and B are in the ratio 19 : 22

 The mass of 1 cm3 of liquid B is 1.1 g.

 5 cm3 of liquid A is mixed with 15 cm3 of liquid B to make 20 cm3 of liquid C.

 Work out the density of liquid C.

.. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .g/cm3

(Total for Question 28 is 4 marks) 

TOTAL FOR PAPER IS 80 MARKS

Pa
pe

r 
1M

A
1:

 3
F

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

1
60

00
B

1 
ca

o

2
5.

25
B

1 
ca

o

3
8

B
1 

ca
o

4i ii

12 2 
or

 5

B
1 

ca
o

B
1

5
1.

75
lo

r 1
75

0 
m

l
B

1 
fo

r k
no

w
le

dg
e 

of
 1

 li
tre

 is
 1

00
0 

m
ill

ili
tre

s
P1

 fo
r a

dd
in

g 
th

ei
r t

w
o 

am
ou

nt
s

C
1 

fo
r 1

.7
5l

or
 1

75
0 

m
l(

m
us

t i
nc

lu
de

 u
ni

ts
)

6(
a)

6(
b)

8 35

B
1 

8 
±2

m
m

B
1 

35
 ±

2˚

7(
a)

7(
b)

7(
c)

5 12 𝑑𝑑5

B
1 

ca
o

B
1 

ca
o

B
1

8
St

at
em

en
t

C
1 

fo
r a

 fu
ll 

ex
pl

an
at

io
n 

9
−1

6,
 3

2
P1

 fo
r 4

8 
÷ 

6
P1

 fo
r a

 c
om

pl
et

e 
pr

oc
es

s t
o 

fin
d 

ei
th

er
 A

 o
r B

A
1



Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

8686 Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

Pa
pe

r 
1M

A
1:

 3
F

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

10
38 15

B
1 

ca
o

P1
 (4

7-
2)

 ÷
3

A
1 

ca
o

11
(a

)

11
(b

)

7 25
6

B
1 

ca
o

B
1 

ca
o

12
Y

es
 w

ith
 e

vi
de

nc
e

C
1 

fo
r w

rit
in

g 
do

w
n 

at
 le

as
t t

w
o 

sq
ua

re
s n

um
be

rs
P1

 fo
r a

dd
in

g 
sq

ua
re

 n
um

be
rs

 
A

1 
ca

o 
w

ith
 su

pp
or

tin
g 

ev
id

en
ce

13
−

4 
an

d 
−1

0
M

1 
fo

r r
ep

ea
te

d 
su

bt
ra

ct
io

n 
of

 6
oe

 
A

1 
−

4
A

1 
−1

0

14
(a

)

14
(b

)

14
(c

)

A
ng

le
 m

ar
ke

d

Fa
ce

 sh
ad

ed

12

B
1 

ca
o

B
1 

ca
o

B
1 

ca
o

15
2

P1
 fo

r c
or

re
ct

 p
ro

ce
ss

 to
 fi

nd
 fi

br
e 

fo
r 4

00
g

P1
 fo

r a
 c

om
pl

et
e 

pr
oc

es
s t

o 
fin

d 
th

e 
fib

re
 p

er
 sl

ic
e 

A
1 

ca
o

16
(i) (ii

)

(ii
i)

3 
op

tio
ns

 sh
ow

n
C

1 
D

ia
gr

am
 w

ith
 d

ec
re

as
ed

 p
er

im
et

er
 d

ra
w

n

C
1 

D
ia

gr
am

 w
ith

 sa
m

e 
pe

rim
et

er
 d

ra
w

n

C
1 

D
ia

gr
am

 w
ith

 in
cr

ea
se

d 
pe

rim
et

er
 d

ra
w

n



Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

8787Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

Pa
pe

r 
1M

A
1:

 3
F

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

10
38 15

B
1 

ca
o

P1
 (4

7-
2)

 ÷
3

A
1 

ca
o

11
(a

)

11
(b

)

7 25
6

B
1 

ca
o

B
1 

ca
o

12
Y

es
 w

ith
 e

vi
de

nc
e

C
1 

fo
r w

rit
in

g 
do

w
n 

at
 le

as
t t

w
o 

sq
ua

re
s n

um
be

rs
P1

 fo
r a

dd
in

g 
sq

ua
re

 n
um

be
rs

 
A

1 
ca

o 
w

ith
 su

pp
or

tin
g 

ev
id

en
ce

13
−

4 
an

d 
−1

0
M

1 
fo

r r
ep

ea
te

d 
su

bt
ra

ct
io

n 
of

 6
oe

 
A

1 
−

4
A

1 
−1

0

14
(a

)

14
(b

)

14
(c

)

A
ng

le
 m

ar
ke

d

Fa
ce

 sh
ad

ed

12

B
1 

ca
o

B
1 

ca
o

B
1 

ca
o

15
2

P1
 fo

r c
or

re
ct

 p
ro

ce
ss

 to
 fi

nd
 fi

br
e 

fo
r 4

00
g

P1
 fo

r a
 c

om
pl

et
e 

pr
oc

es
s t

o 
fin

d 
th

e 
fib

re
 p

er
 sl

ic
e 

A
1 

ca
o

16
(i) (ii

)

(ii
i)

3 
op

tio
ns

 sh
ow

n
C

1 
D

ia
gr

am
 w

ith
 d

ec
re

as
ed

 p
er

im
et

er
 d

ra
w

n

C
1 

D
ia

gr
am

 w
ith

 sa
m

e 
pe

rim
et

er
 d

ra
w

n

C
1 

D
ia

gr
am

 w
ith

 in
cr

ea
se

d 
pe

rim
et

er
 d

ra
w

n

Pa
pe

r 
1M

A
1:

 3
F

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

17
(a

)

17
(b

)

70
,4

0 
an

d 
55

Ex
pl

an
at

io
n

P1
 fo

r a
 m

et
ho

d 
to

 fi
nd

 o
ne

 o
f a

ng
le

s e
g 

(1
80

 -
70

) ÷
 2

 o
r 7

0 
st

at
ed

 a
s t

he
 e

qu
al

 o
r 1

80
 –

2
×

70
P1

 fo
r a

 m
et

ho
d 

to
 fi

nd
 a

 a
ng

le
A

1 
fo

r 7
0,

 4
0 

an
d 

55
 ( 

an
y 

or
de

r)

C
1 

Ex
pl

an
at

io
n 

eg
 o

nl
y 

on
e 

op
tio

n 
on

ce
 a

n 
ob

tu
se

 a
ng

le
 g

iv
en

18
(a

)

18
(b

)

1:
1.

5

3 4

M
1 

fo
r 4

0:
(1

00
-4

0)
 

A
1 

ca
o

B
1 

19
3.

69
×

2 
= 

7.
38

19
P1

 fo
r 7

.3
8

re
pe

at
ed

ly
 a

dd
ed

 a
t l

ea
st

 6
 ti

m
es

 O
R

 5
0 

÷ 
7.

38
P1

 fo
r 6

 ×
 7

.3
8 

+ 
3.

69
 

A
1 

19
 b

ox
es

20
V

en
n 

di
ag

ra
m

M
1 

fo
r t

w
o 

ov
er

la
pp

in
g 

an
d 

la
be

lle
d 

ov
al

s
M

1 
fo

r 2
 a

nd
 6

 in
 th

e 
in

te
rs

ec
tio

n
M

1 
fo

r 5
 a

nd
 7

 in
 th

e 
un

iv
er

sa
l s

et
 o

nl
y

C
1 

fo
r a

 fu
lly

 c
or

re
ct

 V
en

n 
D

ia
gr

am



Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

8888 Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

Pa
pe

r 
1M

A
1:

 3
F

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

21
(a

)

21
(b

)(
i)

(ii
)

21
(c

)

21
(d

)

(4
,1

0)

Li
ne

 d
ra

w
n

Po
si

tiv
e

V
al

ue
 b

et
w

ee
n 

60
 

an
d 

70

St
at

em
en

t

B
1 

ca
o

B
1 

St
ra

ig
ht

 li
ne

 d
ra

w
n 

pa
ss

in
g 

 b
et

w
ee

n 
(2

,2
0)

 a
nd

 (2
,3

0)
 A

N
D

(1
3,

86
) a

nd
 (1

3,
94

)

C
1 

po
si

tiv
e 

C
1 

a 
co

rr
ec

t v
al

ue
 g

iv
en

C
1 

fo
r r

ef
er

rin
g 

to
 th

e 
da

ng
er

 o
f e

xt
ra

po
la

tio
n 

ou
ts

id
e 

th
e 

gi
ve

n 
 

ra
ng

e 
or

 fo
r a

 g
iv

en
 p

oi
nt

Eg
 li

ne
 o

f b
es

t f
it 

m
ay

 n
ot

 c
on

tin
ue

 o
r f

ul
l m

ar
ks

 a
re

 h
ar

d 
to

 
ac

hi
ev

e 
no

 m
at

te
r h

ow
 m

uc
h 

re
vi

si
on

 is
 d

on
e

22
12

.5
≤

L
<

13
.5

B
1 

12
.5

B
1 

13
.5

23
𝑦𝑦

=
2𝑥𝑥

+
1

M
1 

fo
r a

 m
et

ho
d 

to
 fi

nd
 th

e 
gr

ad
ie

nt
M

1 
fo

r a
 m

et
ho

d 
to

 fi
nd

 th
e 

c 
in

 y
= 

m
x

+ 
c

A
1 
𝑦𝑦

=
2𝑥𝑥

+
1

oe
 in

 th
is

 fo
rm

at

24
(a

)
(7

20
+4

08
+3

04
+2

52
)÷

50
33

.6
8

M
1 

fo
r f

in
di

ng
4 

pr
od

uc
ts

 fw
co

ns
is

te
nt

ly
 w

ith
in

 in
te

rv
al

 
(in

cl
ud

in
g 

en
d 

po
in

ts
)

M
1 

(d
ep

 o
n 

1s
t M

) f
or

 'Ʃ
fw

'÷
50

A
1 

ca
o

24
(b

)
M

an
ag

er
 w

ith
 

re
as

on
s

M
1 

fo
r s

tra
te

gy
 to

 c
om

pa
re

 n
um

be
r o

f s
m

al
l s

iz
e 

so
ld

 to
 n

um
be

r 
or

de
re

d
C

1 
cl

ea
r c

om
pa

ris
on

 th
at

 sm
al

l s
iz

e 
is

 n
ot

 ¾
 a

nd
 so

 Je
nn

y 
is

 n
ot

 
co

rr
ec

t o
r t

he
 m

an
ag

er
 is

 c
or

re
ct



Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015

8989Pearson Edexcel Level 1/Level 2 GCSE (9-1) in Mathematics -
Specimen Papers Set 1 - September 2015 © Pearson Education Limited 2015 

Pa
pe

r 
1M

A
1:

 3
F

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

21
(a

)

21
(b

)(
i)

(ii
)

21
(c

)

21
(d

)

(4
,1

0)

Li
ne

 d
ra

w
n

Po
si

tiv
e

V
al

ue
 b

et
w

ee
n 

60
 

an
d 

70

St
at

em
en

t

B
1 

ca
o

B
1 

St
ra

ig
ht

 li
ne

 d
ra

w
n 

pa
ss

in
g 

 b
et

w
ee

n 
(2

,2
0)

 a
nd

 (2
,3

0)
 A

N
D

(1
3,

86
) a

nd
 (1

3,
94

)

C
1 

po
si

tiv
e 

C
1 

a 
co

rr
ec

t v
al

ue
 g

iv
en

C
1 

fo
r r

ef
er

rin
g 

to
 th

e 
da

ng
er

 o
f e

xt
ra

po
la

tio
n 

ou
ts

id
e 

th
e 

gi
ve

n 
 

ra
ng

e 
or

 fo
r a

 g
iv

en
 p

oi
nt

Eg
 li

ne
 o

f b
es

t f
it 

m
ay

 n
ot

 c
on

tin
ue

 o
r f

ul
l m

ar
ks

 a
re

 h
ar

d 
to

 
ac

hi
ev

e 
no

 m
at

te
r h

ow
 m

uc
h 

re
vi

si
on

 is
 d

on
e

22
12

.5
≤

L
<

13
.5

B
1 

12
.5

B
1 

13
.5

23
𝑦𝑦

=
2𝑥𝑥

+
1

M
1 

fo
r a

 m
et

ho
d 

to
 fi

nd
 th

e 
gr

ad
ie

nt
M

1 
fo

r a
 m

et
ho

d 
to

 fi
nd

 th
e 

c 
in

 y
= 

m
x

+ 
c

A
1 
𝑦𝑦

=
2𝑥𝑥

+
1

oe
 in

 th
is

 fo
rm

at

24
(a

)
(7

20
+4

08
+3

04
+2

52
)÷

50
33

.6
8

M
1 

fo
r f

in
di

ng
4 

pr
od

uc
ts

 fw
co

ns
is

te
nt

ly
 w

ith
in

 in
te

rv
al

 
(in

cl
ud

in
g 

en
d 

po
in

ts
)

M
1 

(d
ep

 o
n 

1s
t M

) f
or

 'Ʃ
fw

'÷
50

A
1 

ca
o

24
(b

)
M

an
ag

er
 w

ith
 

re
as

on
s

M
1 

fo
r s

tra
te

gy
 to

 c
om

pa
re

 n
um

be
r o

f s
m

al
l s

iz
e 

so
ld

 to
 n

um
be

r 
or

de
re

d
C

1 
cl

ea
r c

om
pa

ris
on

 th
at

 sm
al

l s
iz

e 
is

 n
ot

 ¾
 a

nd
 so

 Je
nn

y 
is

 n
ot

 
co

rr
ec

t o
r t

he
 m

an
ag

er
 is

 c
or

re
ct

Pa
pe

r 
1M

A
1:

 3
F

Q
ue

st
io

n
W

or
ki

ng
A

ns
w

er
N

ot
es

25
(a

)

25
(b

)

16
0 

til
es

18
 p

ac
ks

 

17
6 

til
es

 
20

 p
ac

ks

18 Su
pp

or
te

d 
st

at
em

en
t

M
1 

a 
fu

ll 
m

et
ho

d 
to

 fi
nd

 th
e 

ar
ea

 o
f t

he
 tr

ap
ez

iu
m

M
1 

a 
fu

ll 
m

et
ho

d 
to

 c
on

ve
rt 

al
l a

re
as

 to
 c

on
si

st
en

t u
ni

ts
M

1 
fo

r t
he

 a
re

a 
of

 th
e 

tra
pe

zi
um

 ÷
ar

ea
 o

f a
 ti

le
M

1 
fo

r c
om

m
un

ic
at

io
n 

of
 th

e 
nu

m
be

r o
f w

ho
le

 p
ac

ks
 re

qu
ire

d
A

1 

P1
 fi

nd
in

g 
th

at
 1

0%
 e

xt
ra

 re
qu

ire
s t

w
o 

m
or

e 
pa

ck
s o

r 1
0%

 o
f 1

8
C

1S
ta

te
m

en
t e

g.
in

cr
ea

se
 in

 p
ac

ks
 is

 2
 m

or
e 

w
hi

ch
 is

 m
or

e 
th

an
 

10
%

 

26
( 𝑥𝑥
−

1)
( 𝑥𝑥

+
4)

M
1 

( 𝑥𝑥
±

1)
( 𝑥𝑥

±
4)

A
1 

( 𝑥𝑥
−

1)
(𝑥𝑥

+
4)

oe

27
A

an
d 

D
C

1 
in

 a
ny

 o
rd

er

28
1.

06
25

P1
 fo

r a
 c

om
pl

et
e 

pr
oc

es
s t

o 
fin

d 
th

e 
de

ns
ity

 o
f l

iq
ui

d 
A

P1
 fo

r a
 c

om
pl

et
e 

pr
oc

es
s t

o 
fin

d 
th

e 
m

as
s o

f l
iq

ui
d 

C
P1

 fo
r a

 c
om

pl
et

e 
pr

oc
es

s t
o 

fin
d 

th
e 

de
ns

ity
 o

f l
iq

ui
d 

C
 

A
1 

ca
o


